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3.7 B HT—TILEES GHE X CRUILE
TR RER: MR

e EIBEER | BEEIEE | F0hEEES
EHE AFdy— (n=13) (n=4) (n=T7) (n=2)
FE BB (%) FEHIE (%) JE BB (%) FEBIE (%)
I T—FIHEOEE |[& 9 (69.2) 3 (75.0) 4 (57.1) 2 (100.0)
a 4 (30.8) 1 (25.0) 3 (42.9) 0 (0.0)
BZE/L—k ANSEER 1 0 1 0
{EEB> £ NSEERIR 0 0 0 0
FH SEER R 2 0 2 0
x5 BB AR AR 2 0 2 0
BB TEHR 1 0 1 0
EHE TERR 0 0 0 0
R FRESAR 0 0 0 0
& KBRES AR 0 0 0 0
FDOBREME 1 1 0 0
BEIEROBRIMEDRE | 4 (30.8) 0 (0.0) 4 (57.1) 0 (0.0)
i vzl 9 (69.2) 4 (100.0) 3 (42.9) 2 (100.0)
BEIEBORIME |(HTF—TIVEERSE 9 4 3 2
<BEEHE> & 15 0 0 0 0
Z Dt 0 0 0 0
HF—F VBB R FEBIEL 9 4 3 2
D EE EfE 3.2 3.3 2.7 4.0
ZHERE 1.7 2.2 1.5 1.4
=/ME 1.0 1.0 1.0 3.0
B 3.0 3.0 3.0 4.0
AE 6.0 6.0 4.0 5.0
V& 0 0 0 0




TRIGID1212

3.8 BERFITES
fRITRER: MR

2 HFEEE | BEEIES | TOMhEiEES
EH HhFdy— (n=13) (n=4) (n=7) (n=2)
JiE {51 34 (%) g 51 (%) SEfAE (%) sE ISR (%)

FERDOERD s 10 (76.9) 3 (75.0) 5 (71.4) 2 (100.0)
=1 3 (23.1) 1.(25.0) 2 (28.6) 0 (0.0
FYDEHE HEBRORE |EE 0 0 0 0
e EE 3 1 2 0
ER0GE B EEGERFEL 1 0 1 0
10% 1 0 1 0
20% 0 0 0 0
30% 1 1 0 0
EREnsEe HMleo®E |FO 0 0 0 0
E Fi 1 0 1 0
F2 2 1 1 0
F3 0 0 0 0
F4 0 0 0 0
ESn ] BRERE | BEESET | TOMmBEEES
HHE ATIY— (n=13) (n=4) (n=7) (n=2)
FEBIZ (%) eI () FEBIE (%) FEIE(h)
HESEROTE " 12 (92.3) 4 (100.0) 6 (85.7) 2 (100.0)
B 1.G. 7 0 (0.0 1 (14.3) 0 (0.0)
B = 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
i) 0 (0.0) 0 (0.0) 0 _(0.0) 0 (0.0
14 g = 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
il 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
HIEEFIRE . 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
izl 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0)
HEK i 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
izl 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
ZOMOIEEDMIRETT |5 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
HEEER izl 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0

FFESER 5 054

2EH EHhiERE | BEEHEE | TOMERES

EH WETE (n=1) (n=0) (n=1) (n=0)

it it
D-BiT (mg/dL) JEHI 2R 1
i) EE 2.1
1E8 ZERE -
=/ME 2.1
e fE 2.1
=AME 2.1
Ve 0
D-Bil (mg/dL) JiE 1 3% 1
(Bhnns) TiE 2.9
2[E B ZERE —9
9
9
0
1
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3.9 ZHRIEFES
fRIT R REM: MR

i 2EHI SHERE | BEETES | TOMBGRES
BB AT — (n=13) (n=4) (n=7) (n=2)
EIHEHE SEBIEL (%) RE{RIET (%) SEBIEL (%) SE B2 (%)
EEEEE | L E8HE | FE8EE | FREHEE
[ilz3 i 11 (84.6) 2 (50.0) 7 (100.0) 2 (100.0)
5 2 (15.4) 2 (50.0) 0 (0.0) 0 (0.0)
RER F 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
E 0 (0.0 0 (0.0) 0 (0.0) 0 (0.0)
1BRE mL/B2) JiE 151 3% 9 4 4 1
EiE 1027.8 1187.5 925.0 800.0
ZERE 432. 4 586.5 298.6 -
=/ME 500.0 600.0 500.0 800.0
F S 1000. 0 1075.0 1000. 0 800.0
=XKIE 2000.0 2000.0 1200.0 800.0
V& E 4 0 3 1
HLT7F_oUT7o50 |E 10 (76.9) 3 (75.0) 6 (85.7) 1 (50.0)
AERDEE H 3 (23.1) 1 (25.0) 1 (14.3) 1 (650.0)
JLTFFZY SE 3% 3 1 1 1
DYFTSURA E{E 87.6 109.0 41.0 112.9
(mL/%3) BERE 404 - - -
&=/ME 41.0 109.0 41.0 112.9
th g fil 109.0 109.0 41.0 112.9
=KIE 112.9 109.0 41.0 112.9
ek 0 0 0 0
BEEEDEE &= 10 (76.9) 1 (25.0) 7 (100.0) 2 (100.0)
F 3 (23.1) 3 (75.0) 0 (0.0) 0 (0.0)
e BTrE 0 0 0 0
{EHWE> IREESER 2 2 0 0
R 0 0 0 0
BX 1 1 0 0
it lan 0 0 0 0
Z Dk 0 0 0 0
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3.10 BERFIAREEITR
FRMT R RERE: MR

EXi] BRERE | REEPREE | ToMmERES
IEH AT — (n=13) (n=4) (n=7) (n=2)
FiE 515 (h) fiE 5 %8 (h) FiE 5128 (%) fiE 5128 ()
NEBREICHT 2REDLE [BEERDLEL 6 (46.2) 3 (75.0) 2 (28.6) 1 (50.0)
i3 ELELTHALY 4 (30.8) 1 .(25.0) 2 (28.6) 1 (50.0)
WEEES 2 (15.4) 0 (0.0 2 (28.6) 0 (0.0)
D5 13D 0 (0.0 1.(14.3) 0 (0.0
INGBIEIZR T HFEOBE |RMELBDHAL 3 (23.1) 2 (50.0) 0 (0.0) 1 (50.0)
i3 ELELTHREL 1.3.7 0 (0.0 1 (14.3) 0 (0.0)
WEEES 6 (46.2) 1 (25.0) 4 (57.1) 1 (50.0)
hh oL 3 (23.1) 1 .(25.0) 2 (28.6) 0 (0.0
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4.1 BIZEHARE

fEMTREM: MR

TRIGID1212

e ERERE | BEEDEE | TofEEES
EE wEte (n=4) (n=3) (n=1) (n=0)
o FE15125 (h) FEBIER () FEI %R (%) REBI 2 (h)
FEMEE | FLEMEE | FEHEE | ELEHEE
BEE () P ES 4 3 1 0
THE 4.6 5.8 1.0 -
RERE 3.1 2.4 - -
&/MiE 1.0 4.2 1.0 -
fR{E 4.5 4.7 1.0 -
=AE 8.6 8.6 1.0 -
RBIZ 0 0 0 -
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4.2 B4R NDER
R RER: MR

TRIGID1212

BH | #iEtE EfEH (n=4) ERRIE IR R (n=3) BEEEE (=1) Z DiEEREEE (h=0)

RALEE iF ST B =l & i 2l
= 3 (75.0) 1 (25.0) 3 (100.0) 0 (0.0 0 (0.0 1 (100.0) 0 (0.0 0 (0.0)

EH | #iEtE EEH] (=4 BIBEEE (=3) BEEsEs (=1 Z DIEEEE (n=0)

X oo P s L = £ i il = i) & =l
FEE0ER S 3 (100.0) 0 (0.0 3 (100.0) 0 (0.0 0 (0.0 0 (0.0) 0 (0.0 0 (0.0)
il 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 0 (0.0 1 (100.0) 0 (0.0 0 (0.0
BEEDNHE EoE 2 (100.0) 0 (0.0) 1 (100.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0)
2l 0 (0.0 2 (100.0) 0 (0.0) 2 (100.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0
AT—TILEHEOFE o 2 (100.0) 0 (0.0) 2 (100.0) 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0) 0 (0.0)
il 0 (0.0 2 (100.0) 0 (0.0) 1 (100.0) 0 (0.0 1 (100.0) 0 0.0 0 (0.0

BH | #iEtE 2EH (=4 I XA (n=3) BEEFEE (h=1) Z DIEREREE (n=0)

A i # il # | =1 i izl o g
NG HE D A 4 (100.0) 0 (0.0) 3 (100.0) 0 (0.0 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0
BRI K 2= O Bt Rt 3 (100.0)* 0 (0.0)" 3 (100.0) 0 (0.0) 0 (0.0 0 0.OF 0 (0.0) 0 (0.0)

EVEBB % ERT L.
TEFTRAEE ST D,
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4.3 FREVAEDHBE
R RER: MR
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3.1 BEER
TR EE: BA

TRIGID1212

] 2JEH] wHEEERE | BEETRES | ZoMmBEES
EQ AT — (n=13) (n=12) (h=1) (n=0)
Ei-ldHEE GE 515 (%) SEBIE (%) SE IS () SEBI R (%)
FldEEE | EREEEE | EEEE | i3S
B3 B 9 (69.2) || 9 (/5.00 | O (0.0 — 0 (0.0) |
= 4 (30.8) 3 (25.0) 1 (100.0) 0 (0.0
BEREEE ) JiE {511 4 13 12 1 0
4 E 50.5 52.6 26.0 -
EERE 12.7 10.8 - -
S/ME 26.0 30.0 26.0 =
(B 53.0 53.5 26.0 -
=AIE 73.0 73.0 26.0 -
KB 0 0 0 -
FEREE ) JE 5 5L 13 12 1 0
F4iE 35. 89 37.23 19.84 -
EERE 13.82 13.53 - -
=/ME 19.84 19.92 19. 84 -
B 35.09 36. 45 19.84 -
=KIE 58.02 58.02 19. 84 -
VS 0 0 0 -
FIERN S Z8H SiE {554 13 12 1 0
ETOHME(B) EHME 183.3 191.0 90.8 -
(FeFED D DR BHIRE) BEREE 100. 1 100. 4 - -
B/ME 29.5 29.5 90. 8 -
R {E 178.1 181.8 90. 8 -
BKIE 389.8 389. 8 90.8 -
VS EA 0 0 0 -
B& (cm) S5 2R 13 12 i 0
Fi{E 165. 2 165.0 167.5 -
EERE 8.8 9.2 - -
B/ME 149.6 149.6 167.5 -
rh g i 167.5 167.1 167.5 -
BAIE 177.0 177.0 167.5 -
Ve E 0 0 0 -
~E (k) JE 55X 13 12 1 0
FiE 53.3 52.8 59.5 -
ZERE 9.4 9.7 - -
B/ME 38.3 38.3 59.5 -
R E 52.5 52.3 595 -
HKIE 71.0 71.0 59.5 -
@ik 0 0 0 -
BERH (bRl ) FEBIEL 0 0 0 0
19 {E - - - -
BEREE - - - =
BIME - - - -
ok fi - - - -
PN - - - -
R A - = = -
Performance Status 0 11 (84.6) 10 (83.3) 1 (100.0) 0 (0.0
(ECOG) 1 2 (15.4) 2 (16.7) 0 (0.0) 0 (0.0
BEEBOAROEE |E 6 (46.2) 6 (50.0) 0 (0.0) 0 (0.0)
G-l 7 (53.8) 6 (50.0) 1 (100. 0) 0 (0.0)
FEEIEATIOYNCEE FEBIER 7 6 T 0
Fi9iE 23.7 24.3 20.0 -
RERE 14.0 15.2 - -
&/ME 4.0 4.0 20.0 -
R fE 28.0 28.5 20.0 -
BXIE 43.0 43.0 20.0 -
VE 0 0 0 0
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3.3 ERESEIREE
T REM: BRA
\ 2 e Bl THERE | BEenEE |z 0OhEERES
EE = (n=13) (n=12) (n=1) (n=0)
-kt E FEBIBH (%) FE51% (%) RE BB (%) TEFIE (%)
ElEEs EIGHEE | EFBHEE | S | F7KHEHE
BREEDAE & 0 (0.0) 0 0.0) | 000 [ 0C00
A 13 (100.0) || 12 (100.0) 1 (100. 0) 0 (0.0
HIRREDRER e 13 12 1 0
MALEFAETD SEHE 134. 1 143.9 17.3 -
HiRG (B) ZERE 102. 8 100. 9 - -
5/NE 17.3 25.0 17.3 -
e 144.9 148.8 17.3 -
BAE 341.3 341.3 17.3 -
SAIB 0 0 0 0
ERAREGI) BERE B 13 12 1 0
BERE (Kcal /day) FHiE 1179.2 1244.2 400. 0 -
ZERE 424.9 370. 3 - -
B/ME 400. 0 820. 0 400.0 -
oL iE 1160. 0 1160. 0 400. 0 -
SAIE 1760.0 1760. 0 400.0 -
- 0 0 0 0
7=/ B FE I 13 12 1 0
(g/day) E{E 41.0 432 15.0 -
EEREE 14.1 12.2 - -
B/ME 15.0 30. 0 15.0 -
g 41.0 4.0 15.0 -
BXIE 62.0 62.0 15.0 -
XA 0 0 0 0
KHE FE BB 13 12 1 0
(L/day) EE 1.6 1.5 2.5 -
ZERE 0.5 0.4 - -
=/ME 1.0 1.0 2.5 -
th i 1.5 1.5 2.5 -
=RNE 2.5 2.2 2.5 -
KA 0 0 0 0
—RAEHEE R 13 12 1 0
SRS (BFE/ FH{E 11.3 1.5 10.0 -
=) EERE 3.9 4.1 - -
5/ME 8.0 8.0 10.0 -
s 10.0 10.0 10.0 -
BAIE 24.0 24.0 10.0 -
XA 0 0 0 0
[EESEYED) FEBIBL 13 12 1 0
DELZTDE EHiE 6.5 6.8 40 -
B E5ER% ZERE 1.0 0.6 - -
(B/58) =/ME 4.0 50 4.0 -
i 7.0 7.0 4.0 -
BX{E 7.0 7.0 4.0 -
RiBIE 0 0 0 0
BT 5T IR BE &= 6 (46.2) 5 (41.7) T (100.0) 0 (0.0)
EIE i 7 (53.8) 7 (58.3) 0 (0.0) 0 (0.0)
x5 [EER 7 (100.0) 7 (100.0) 0 (0.0) 0 (0.0)
Bl e mEE0  |Taurolock (TN [ 13 (100.0) || 12 (100.0) 1 (100.0) 0 (0.0)
MBER ) DIER A 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
I4/—)L |& 12 (92. 3) 12 (100.0) 0 (0.0) 0 (0.0)
0y QER |5 14D 0 (0.0) 1 (100.0) 0 (0.0)
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3.4 BHEBRED - BEXS
BEER: RA
oy — 2EH EREEE | BEERET | TOMmEEES
= (n=13) (n=12) (n=1) (n=0)
EH F 1= A :
s FEBIEL (%) E BB (%) FEFI B (%) SEBIE ()
FEHEE || E-EHEE | Fo3HEE | ELEHEAE
O - BEFEDARE o= 7 (53.8) 7 (58.3) 0 (0.0) 0 (0.0)
2l 6 (46.2) 5 4.7 1 (100.0) 0 (0.0)
B EA o EiREFE TOER(A) IE 513K 2 2 0 0
EHE 150. 4 150. 4 - -
| ZERE 15.5 15.5 - -
&/ME 139.4 139. 4 - -
R{E 150. 4 150. 4 - -
BAIE 161.3 161.3 - -
& 4 3 1 -
B RO 58S fiE {5 3% 5 5 0 0
ERARE (Kcal/day) EE 382.0 382.0 - -
EBERE 249.2 249.2 - -
&/NME 200.0 200.0 - -
| hE 300.0 300.0 - -
=mXE 800.0 800.0 - -
RISk 1 0 1 -
T/ HE I 3L 5 5 0 0
(g/day) EE 20.5 20.5 - -
ZERE 19.3 19.3 - -
&/ME 8.8 8.8 - -
Rk fE 11.0 11.0 - -
BXE 54.0 54.0 - -
V& E i 0 1 -
K= JEBIEL 5 5 0 0
(L/day) TfE 0.5 0.5 - -
EERE 0.4 0.4 - -
=/NME 0.2 0.2 - =
kg 0.3 0.3 - Z
=XE 1.0 1.0 - =
& E 1 0 1 -
—HFEHE SEHIEL 6 5 i 0
He[Egh (B/H) B 1.8 1.6 3.0 -
ZERE 1.0 0.9 - -
&/IME 1.0 1.0 3.0 -
e 1.5 1.0 3.0 -
=KXE 3.0 3.0 3.0 -
SRl 0 0 0 -
ARH-YDE & JEFIEY 6 5 1 0
FOFHERBEH B 7.0 7.0 7.0 -
(B/38) TR RE 0.0 0.0 - -
B/ME 7.0 7.0 7.0 -
FRk{E 7.0 7.0 7.0 -
&AE 7.0 7.0 7.0 -
&k 0 0 0 -
e EEmOHIMIZ & 558 & 13 (100.0) 12 (100.0) 1 (100.0) 0 (0.0)
BOIET B 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
#EOE E 1 (0.7 1 (8.3) 0 (0.0) 0 (0.0)
el 12 (92.3) 11 (91.7) 1 (100.0) 0 (0.0
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3.5.1 BREFRZTOMDEREE - BH. NHEROFE

TRIGID1212

BITHRER: KA
25E 5l TEREERE | BEESREE | TOMmBRES
EH HFTy— (n=13) (n=12) (n=1) (n=0)
- FEIEE (%) FEBHIEE (h) FEBIER () FE5IE (%)
if:‘i:gﬁ%f%. if:‘itﬂig-f%. if:lil:iig-lli if:'inﬁ?ﬁ-%
ANTHLFY AITFHOIIHAE, [& 13 (100.0) 12 (100.0) 1 (100.0) 0 (0.0
5DEEARIT el 0 (0.0 0 (0.0 0 (0.0 0 (0.0)
B3] ProbioticsdD{EFE = 12 (92.3) 12 (100.0) 0 (0.0 0 (0.0)
=l 1.3.7 0 (0.0 1.(100.0) 0 (0.0
BEESHEEDMHE (& 9 (69.2) 8 (66.7) 1 (100.0) 0 (0.0)
izl =l 4 (30.8) 4 (33.3) 0 (0.0 0 (0.0
H,Blocker M1{E A #E 11 (84.6) 11 91.7) 0 (0.0) 0 (0.0)
=l 2 (15.4) 1 (8.3) 1 (100.0) 0 (0.0
PPIDfE 7 11 (84.6) 10 (83.3) 1 (100.0) 0 (0.0)
=l 2 (15.4) 2 (16.7) 0 (0.0 0 (0.0)
HRBTER | EREROFE i 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0
A 13 (100, 0) 12 (100.0) 1 (100.0) 0 (0.0
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3.5.2 BEHRFNHAREN—E
TR RER: KA

= B S RRED SR BEMNEO [EEED
BRES| BHA Y FEMES | e | wmp Ny Ex(om | A
001-007 | 2013/8/29 |BEEBEE 19. 84 26 | 2006/5/10 |B&oik | - | & |
001-007 | 2013/8/29 |laEEgfEE 19.84 26 2011/5/26 |l2&k - b5
001-007 | 2013/8/29 | = 19.84 26 2012/3/22  |BBEEsE - -
008-001 | 2013/8/16 |EiBfElEEE 39.16 50 2002/1/1 _|BEUIR 100 s
021-001 | 2013/12/7 |EhaiE s 45 47 58 2000/7/1  |BEUIR 30 i
027-001 | 2013/12/10 |G E R 58. 07 73 1998/7/7 _ |BBELI& 115 bl
027-002 | 2013/12/10 | EaiE i 19.92 47 1986/6/24 |B&YIR 190 i
027-002 | 2013/12/10 |E i ER 19.92 47 1986/7/2 | ATHIF%&EER - -
027-002 |2013/12/10 |5ERasEER: 19.92 47 1987/12/14 | A THIFA&ES - -
027-002 | 2013/12/10 | 1B R 19.92 47 1988/12/14 |ATRIMI&ES - -
027-002 | 2013/12/10 |45 par s 19.92 47 1998/7/15 | NTRIFIE - -
027-002 |2013/12/10 |G ER 19.92 47 2001/12/19 | ATHATF91EE - -
027-003 | 2013/12/10 |G i iE e 37. 81 54 1985/10/15 BB E VIR - &=
027-003 | 2013/12/10 |4a 5 e B 37. 81 54 1997/5/2  |BBEYIKR 150 i
027-004 | 2013/12/10 | @ik lE it 21.2 53 1981/7/1 _ |IB&YIRR 120 g
027-005 | 2013/12/10 |k e 35. 09 56 1992/9/30 |BEUIE 230 I
027-006 | 2013/12/10 |EiaiEizEE 28.85 13 1991/8/15  |B&YIE - "
027-006 | 2013/12/10 |4 (EaE 28. 85 43 2010/3/15  |Ba&ts - g
027-006 | 2013/12/10 |‘mEwEizat 28. 85 43 1999/2/15 |2 &tIk - i
027-007 | 2014/1/8 |smizst 23. 62 30 2007/3/1 | ELI - ol
027-008 | 2014/1/8 |miiizEt 28. 39 76 1995/7/28 |E&0% 285 o)
027-009 | 2014/1/8 |mBiEizet 56. 88 59 1987/8/15 |B&Uk - 5
027-009 | 2014/1/8 |EipiE(Es 56. 88 59 1992/10/16 |BEUIEK 150 il
027-009 | 2014/1/8 |ElasEiEst 56. 88 59 2001/3/15  |B&k 130 ]
027-009 | 2014/1/8 |‘EiemiEat 56. 88 59 2004/12/27 BBtk 90 i
027-009 | 2014/1/8 |miaiEizs 56. 88 59 2011/7/21 |BE&uk 70 i
027-009 | 2014/1/8 |sEiiE(Es: 56. 88 59 2012/2/8 |BEtIk 65 i
027-010 | 2014/1/8 |Gl 52. 36 62 1984/12/18 |BE&YIE - i
027-010 | 2014/1/8 |EiafE(EEs 52. 36 62 2004/2/25 |lBEUR 165 i
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3.6 ZHIXEFERRIRE - BMD
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3.6 BFREFERKRE - BMD
R RER: RA
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3.6 FIREFERIRIRE - BUD
RTARER: KA

SAEG] ERERS | REEFET | TomERES
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(ug/dL) FEiE 152. 6 163.0 69.0
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3.7 BEREEH T — T ILBSES GHE R G

BT AREE: BRA

TRIGID1212

£ el EHERE | BEEEES | F0MhikEEE
EE HFIy— (n=13) (n=12) (n=1) (n=0)
FEAIE (%) FEBIET (%) SEI R () i1 25 ()
hr—TLHEOEE |&E 9 (69.2) || 8 (66.7) 1 (100.0) 0 (0.0)
el 4 (30.8) 4 (33.3) 0 (0.0) 0 (0.0
BAEIL— ~ HREFHR 0 0 0 0
{EE®/ ENSEERR 0 0 0 0
B EEER 0 0 0 0
ENEEF R 0 0 0 0
FHE TR 1 1 0 0
IEE TERR 1 1 0 0
R BBERAR 0 0 0 0
= KER#S AR 1 1 0 0
ZTOMOEAEMmME 2 2 0 0
BEIEBOBILEDE |2 10 (76.9) 10 (83.3) 0 (0.0) 0 (0.0
i ) 3 (23.1) 2 (16.7) 1 (100.0) 0 (0.0)
BEIEBOBRME |H7—T/IEERE 3 2 1 0
{EEB> BEERTE 0 0 0 0
Z D 0 0 0 0
A F—F VBB R FE B3k 3 p) i 0
D E% EiE 1.7 1.5 2.0 -
EERE 0.6 0.7 - -
B/ME 1.0 1.0 2.0 -
R fiE 2.0 1.5 2.0 -
=AE 2.0 2.0 2.0 -
VS E 0 0 0 N




3.8 BEFITES
RIS A

TRIGID1212

2FEH) EHEERE | GEEIEE | FoihBgES
EH HFT— (n=13) (n=12) (n=1) (n=0)
FE13 () FEH13 (%) FEBIE (%) FEBIH (%)
FERO=RDA E 3 13 (100.0) || 12 (100.0) | T (100.0) | 0 (0.0) |
A 0 (0.0 0 (0.0) 0 (0.0) 0 (0.0)
B A, =
FIOHE FEBOR | 0 0 0 0
?&E@%‘E IERAFT - 0 0 0 0
e EBERE | BEEYREE | FotiEgEE
IEH HFaYy— (n=13) (n=12) (n=1) (n=0)
SEAIEL (%) SEBIER () FEFIE (%) SEBIE %)
EREET RN T = 13 (100.0) || 12 (100.0) | 1 (100.0) 0 (0.0)
a5 0 (0.0) 0 (0.0 0 (0.0) 0 (0.0)
EiE = 13 (100.0) || 12 (100.0) 1 (100. 0) 0 (0.0)
) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0
I E m 13 (100.0) | 12 (100.0) 1 (100. 0) 0 (0.0)
ol 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
SBIEERIRE & 13 (100.0) || 12 (100.0) 1 (100.0) 0 (0.0)
A 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
HEK & 13 (100.0) | 12 (100.0) 1 (100.0) 0 (0.0)
A 0 (0.0 0 (0.0) 0 (0.0) 0 (0.0)
ZOMOEEOMIRETT & 13 (100.0) || 12 (100.0) 1 (100.0) 0 (0.0)
HEREIK A 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0
FEEER [EF] 0B
2R EHEEE | BEEIESE | FOMEEES
I5H HETE (n=0) (n=0) (n=0) (n=0)
fHets #KEl = #HitE #HEtE
D-Bi Tl (mg/dL) FEBIEL 0 0 0 0
| () EigfE - - - -
HELE| BEERE - - - -
B/ME - - - -
th gL {E - - - -
RKIE - - - -
VS E - - - -
D-Bil (mg/dL) FEBIEL 0 0 0 0
(BRRE) SEHE - - - -
28 EERE - - - -
/IME - - - -
rh g fE - - - -
N - - - -
UL - - - -
/RS (F10%/mm®) T E 0 0 0 0
(L h) FEiylE - - - -
EERE - - - -
B B/ME - - - -
th R fE - - - -
BA(E - - - -
VS E - - - -
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